
 
 

AB.Q403.REVIEW ASSESSMENT 
(Part A) 

RATE IN / RATE OUT 

(X points) 
 

 
CALCULATORS PERMITTED 

[Decimal Answers – Round to Three Decimal Places] 
 
NAME: 
 
DATE: 
 
BLOCK: 
 
 
 
I (print name)_________________________________ certify that I wrote all marks made in this 
assessment.  I did not write anything that I do not fully understand.  I would now, having 
completed this assessment, be able to make similar (but equally accurate) responses if asked 
complete the same exact assessment on my own.   
 
Signature:   
  

Michael
Text Box
SOLUTIONS
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floes) = 10.542 gallonsIhr floes) -- 5.778 gallonsIhr '

fustat = 5.258

Alois) = 15 t Ict) lat - Sfctsdt = 10.236 gallons
A- Lt) = IS tfrcu) - feed tan must use a dummy variable
f- (o - 25) = to . 542 > rco.rs) = 0.988 C- / show this to justify

decreasing bkrateoutatt-o.es is greater than rate in
f- (1-25)=15.323 S r (1-25)=25 C- I show this tojustify

increasing 6k rate the rate in at t -- 1. zs is greaterthan rate
out

=

Jose- o - Ost fat + §.gs = 0.494+12.5 or 12.994 gallons

A- ( t) = 10.236 -↳ Its dtt!,2Sdt
10.236 - 6.566 t 12,5

Or 16.170 gallons

16.170 t # zsdw - tf
,

few) due = 20
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gyrate
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gyrate
out

Ave rate of ratio = § t) - UH]dt
=

4. gozqz
- g- = 0.600 m%hr

8-0

A'It) = Elt) - Ltt) -0 at E- 3.617
,
t - 6.344

-
must show this
to justify
interior

critical

A- ( o ) = 200
3.617

A-(3.617) = 200 t SEELt) -Utd Lt = 205.521
O

A- (6-344)=200 t
"

IEA) -LAI dit = 203.646

A- ( 8) = 200 t§[ Ect) - LHD lat = 204.803
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75/62 .
s ) is o 175 !

[gltjdef I Iz ( 21 t 2615) t 246) t 244) t 21253+2135) +12)
= 607 .

S ft 3

& htt) ht = IS Cs ) t
'stats) t Isao ) t 'OLI (s) = 362.5 ft 3

A 130) = 400 tfguyht - hither
= 400 t 607,5 - 362.5

= 645 ft 3
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g t dt³ LQ�WKH�FRQWH[W�RI�WKH�SUREOHP��

g Clo) = 16 > h ( co ) = to←{show thisto justify

increasing
bk rate in at t -- co is greater

than rate out

gun . ."÷g ask.gg?:tI'I..D
- 4.6

h
'

(27) = 2 ft31hm

Average rate of water flowing out of the pipe (ftThr)
over the first 30 hrs

. for from to to t= 30 hrs )

362z = 12.083 ft3/hr

Average rate of change in the rate of water flowing into
the pipe (ft31hm) over the first 30 hrs .

I 2 - 21

-30
= - O . 3 ft3/hrz
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